Maple Exercises
1. Determine the vertical and horizontal asymptotes of the function
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    Note: This can be entered as a function in Maple as: 

f := x -> (3*x^3 + 12*x^2 -3*x - 12) / (2*x^3 + 3*x^2 - 23*x - 12); 
2. 
Use graphical, numerical, and algebraic methods to determine the following limits.
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g := x -> (x - cos(x) + 1)/x;


b. 
[image: image3.wmf]x

x

x

x

1

cos

lim

+

-

¥

®


g := x -> (x - cos(x) + 1)/x;


c.  
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h := x -> 5/(1 + exp(-x));
3.
Use Maple to graph the piecewise function
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k := x -> piecewise( x < -1, -x+1 ,(x >=-1) and (x <= 1), x,  x > 1, x^2);

Calculate the 
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 and 
[image: image7.wmf])

(

lim

1

x

h

x

+

-

®

 to verify the limit does not exist at this 

value.
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